
ECAT Mathematics Chapter 23

Sr Questions Answers Choice

1 Every subset of a finite set is
A. Disjoint
B. Null
C. Finite
D. Infinite

2 0 is a symbol of
A. singleton set
B. Empty set
C. Equivalent set
D. Infinite set

3 The number of subsets of B = {1,2,3,4,5}
A. 10
B. 32
C. 16
D. 5

4 The number of proper subset of A ={a.b.c.d} is
A. 3
B. 6
C. 8
D. 15

5 The many subset can be formed from the set
{a,b,c,d}

A. 8
B. 4
C. 12
D. 16

6 The number of subset of {0} is
A. 1
B. 2
C. 3
D. None

7 If E = { } , then P(E)
A. ∅
B. { }
C. {(2),(4),(6)....}
D. (∅)

8 If D = {a} , the P(D) =

A. {a}
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C. {∅,{a}}
D. {∅,a}

9 The set of even prime numbers is
A. (2,4,6,8,10}
B. {2,4,6,8,10,12}
C. {1,3,5,7,9}
D. {2}

10 If A⊆ B, and B is a finite set, then

A. n (a) &lt; n(B)
B. n(B)&lt;(A)
C. n(A)≤ n (B)
D. n(A)≥ n(B)

11 If A = {2m/m3= 8 , m€ Z} then A =
A. {1,8,27}
B. {4}
C. (2,4,6}
D. {2,16,54}



12 If 0 = {1,3,5.......}, then n (0) =
A. Infinite
B. Even numbers
C. odd integers
D. 99

13 If B ={x/x€ Z  ̂- 3 < x < 6}, then n (B) =
A. 5
B. {-3,-2,-1,0,1,2,3,4,5,6}
C. 8
D. 9

14 If a = {2m/2m < 9 ,m€ p} , the (n A) =
A. {2,3,4,5,6,7,8}
B. {2,4,6,8............16}
C. { 4, 6}
D. {2,3,5,7}

15 If C={p/p < 18, p is a prime number}, then C =
A. {2,3,4,.........17}
B. {2,4,6,8................16}
C. {1,3,5,7,9,11,13,15,17}
D. {3,6,9,12,15}

16 If A = {x/x is a positive integer and 4≤x<23}, then
A=

A. {1,2,3,4,5,6,7}
B. {4,5,6...........22}
C. {1,2,3,.........23}
D. {1,2,3,4,5}

17 Z is a
A. Infinite set
B. Finite set
C. Singleton set
D. Set of all integers

18 {0} is a
A. Empty set
B. Singleton set
C. Zero set
D. Null Set

19 Every set is an improper subset of
A. Empty set
B. Equivalent set
C. Itself
D. Singleton set

20 Empty set is
A. Not subset of every set
B. Finite set
C. Infinite set
D. Not the member of real numbers


